CLAT 2022 - UG Set A — Answer Key

-

QO o

[¢D)
WWBADDCCDBDBACCBDDBBBCBCAADBDCCA
o

0<
%.123456789012345678901234567890
u0222222222333333333344444444445
QNl11111111111111111111111111111
-

[SEET)

(D)
nmCDBDACCADCDBCCDACAACADDACACAACACDACBAACC
o

o<

[7p]

: o™ LN | O e ) o
SR BBIs B82S T8gsRsESSEISEEsEiBEEEEEEE=2SR
QN e [ [ [ | | | [ [ [ [ [ [

-
O o
[¢D)
anADCBCABADBCCDADBACDACDABABCADBBCCABBADD
o
o<
S
m AN M T OO IMNOIDHDIO(AINM IO OISO OIANM I TILOD| OIS0 IO NM IO~ |O
[«}) < IS (S S (<TI0 W00 OO OO OO OO | O[O |~~~ ([PM~]|M~|[PM~]|M~ |00
>
&
S o
mmBCDCADCBBADABDCCDBADCABCCBDDADBCDCADCCAD
o<
S
g |dNmt|w|lo~lo|loSIDYSITLCGTSRRITNIQRILQARIRIAIB IS S SIS NS SINRS
-
&




